mar20 (more acc & displacement).notebook March 20, 2012

Kiwﬁcs & LS

(ovond Wbl
V= 0
at
Gonsterd Acelction
0= AV (reatt: vz -, )
At
e o (o Vo V2, \
At >

oNLY Whem ae v comylam
Masbe Use bl fonatioms:
el lpinss
O ad=v at 4 -ia(h’c) dw“r
® - V, At - "j&(At)l t:)wuv\
© V;': V‘z t 2aad ~




mar20 (more acc & displacement).notebook March 20, 2012

One More Example:
An airplane must reach a velocity of 71 m/s for takeoff. If the runway is 1.0 km
long, what must the constant acceleration be?
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How could you find your reaction time by using a ruler?
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